
  

MAY 2013 U/ID 9008/JH1 

Time : Three hours Maximum : 50 marks 

Answer any THREE questions. 

All questions carry equal marks. 

1. (a) Calculate mean deviation from mean from 

the following data 

Marks : 0–10 10–20 20–30 30–40 40–50 

No. of Students : 4 6 10 20 10 

Marks : 50–60 60–70    

No. of Students : 6 4    

  RÌUPõq® ¦ÒÎÂÁµzvØS \µõ\› 
Â»UPzøuU PõnÄ®. 

©v¨ö£s : 0–10 10–20 20–30 30–40 40–50 

©õnÁºPÒ GsoUøP : 4 6 10 20 10 

©v¨ö£s : 50–60 60–70    

©õnÁºPÒ GsoUøP : 6 4    

 (b) Calculate standard deviation from the 

following data  

x : 0–30 30–60 60–90 90–120 120–150 

y: 9 17 43 82 81 

x : 150–180 180–210    

y: 44 24    
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 RÌPõq® ¦ÒÎÂÁµzvØS uµÂ»UPzøuU PõnÄ®. 

x : 0–30 30–60 60–90 90–120 120–150 

y: 9 17 43 82 81 

x : 150–180 180–210    

y: 44 24    

2. Fit a binomial distribution to the following data. 

x : 0 1 2 3 4 5 6 7 8 9 10 

f : 6 20 28 12 8 6 0 0 0 0 0 

 RÌPõq® ÂÁµzvØS D¸¨¦ £µÁø» ö£õ¸zvkP. 

x : 0 1 2 3 4 5 6 7 8 9 10 

f : 6 20 28 12 8 6 0 0 0 0 0 

3. (a) Find the regression equation of X on Y and Y 

on X from the following date an estimate X 

when Y = 20. 

X : 10 12 13 17 18 

Y : 5 6 7 9 13 

  RÌUPõq® ÂÁµ[PÐUS X Cß «x Y, ©ØÖ® 

Y Cß «x X Cß öuõhº¦ ÷PõkPøÍU 

PõnÄ®. ©ØÖ® Y = 20  BP C¸US®÷£õx X 

Cß  ©v¨¤øÚU PõnÄ®. 

X : 10 12 13 17 18 

Y : 5 6 7 9 13 
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 (b) Calculate the rank correlation coefficient for 

the following data 

X : 92 89 87 86 83 77 71 63 53 50 

Y : 86 83 91 77 68 85 52 82 37 57 

 RÌPõq® ¦ÒÍÂÁµzvØS uµ JmkÓÄ öPÊÂøÚU 

PõnÄ®. 

X : 92 89 87 86 83 77 71 63 53 50 

Y : 86 83 91 77 68 85 52 82 37 57 

4. Fit 2cxbxaY ++=  for the following data by 

method of lest squares. 

Year : 2000 2001 2002 2003 2004 2005 

Price : 100 107 128 140 181 192 

 RÌPõq® ÂÁµzvØS 2cxbxaY ++=   GßÓ 

\©ß£õmiß «a]Ö ÁºUP •øÓ ‰»® ö£õ¸zuÄ®. 

Á¸h® : 2000 2001 2002 2003 2004 2005 

Âø» : 100 107 128 140 181 192 

5. The table give monthly sales (Rs. in lakhs) of three 

salesmen in four cities. Test whether there is any 

significant difference in sales between  

 (a) Cities 

 (b) Salesmen 

 (Give 5% F(2, 6) = 5.14, F(3,6)=4.76) 
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  Cities 

  1 2 3 4 

 A 6 4 8 6 

Salesmen B 7 6 6 9 

 C 8 5 10 9 

 R÷Ç öPõkUP¨£mkÒÍ AmhÁøn J¸ {ÖÁÚzvß 
©õuõ¢vµ ÂØ£øÚ (¹. »m\zv») |õßS |Pµ[PÎÀ 
Auß ‰ßÖ ÂØ£øÚ¯õÍºPÍõÀ ö\´¯¨£mhx. 

  |Pµ[PÒ 

  1 2 3 4 

 A 6 4 8 6 

ÂØ£øÚ¯õÍºPÒ B 7 6 6 9 

 C 8 5 10 9 

 ÂØ£øÚ°À 

 (A) |Pµ[PÐUQøh÷¯ ÷ÁÖ£õk EÒÍuõ 

 (B) ÂØ£øÚ¯õÍºPÐUQøh÷¯ ÷ÁÖ£õk EÒÍuõ 
GÚ ÷\õvzx •iÄ Põs. 

  (5% F(2, 6) = 5.14, F(3,6)=4.76) 

  

———————  


